
(1)

GBS

R806570700 (Fasett)

19

20

21

23

24

25

22

21

20

19

1 2 3

5

6

7

8

9 10

4

11 12 13 14 15 16 17 18

262716281429313233

30



Art.No.Titel / TitleAnt/QtyPos.
 Blandarhus övre / Upper mixer body11
 Metallbricka 60x44x2 / Metal washer 60x44x212
 Gummipackning 60x46x2 / Rubber packing 60x46x213
 Insexskruv M5x8 / Inox screw M5x814
 O-ring 24x18,72x2,6215
 Blandarhus nedre / Lower mixer body16
 Plugg med o-ring / Plug with o-ring17
 Backventil / Non return valve28
 Gummipackning 56x44x3 / Rubber packing 56x44x319
 Stöd för basring / Support for base ring110

98837Reglerenhet / Cartridge111
 Fästmutter reglerenhet / Cartridge fixing nut112
 Termperaturring / Temperature ring113
 Metallbricka 52x45,5x1 / Metal washer 52x45,5x1214
 Fästmutter basring / Clamping nut for base ring115
 Basring för termostat / Base ring for thermostat216
 Skruv till reglerenhet / Screw for cartridge117
 Hatt till reglerenhet / Top for cartridge118
 Knopp till handtag / Knob for handle219
 Insexskruv M4x10 / Inox screw M4x10220
 Insexskruv M4x4 / Inox screw M4x4221
 Omkastarvred / Diverter lever122
 Temperaturhandtag / Temperature handle123
 Temperaturspärrfjäder / Temperature lock spring124
 Temperaturspärr / Temperature lock125
 Låsning temperaturspärr / Locking for temperature lock126
 Skruv till termostat / Screw for thermostat127
 Fästmutter termostat / Clamping nut for thermostat128
 Temperaturring / Temperature ring129
 Insexskruv M5x6 / Inox screw M5x6130
 Fästmutter termostat / Thermostat fixing nut131
 Termostatstöd / Thermostat support132

98802Termostat / Thermostat133

(2)
2010-06-11


